Trig Formulas:

- , . SIN Y
sin”(x) =3 (l—cos(2x)) | tanx =
B ! COS X
. COS X
cos’(x) =1 (1+cos(2x)) | cotx=—
- : sin x

sin” (x) +cos’(x) =1

tan’(x) +1=sec’(x)

1 cos(—x) = cos(x)
Secy =
CoS x
1 sin(—x) = —sin(x)
CSCX =—
SN X
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Trigonometric Formulas

sin® @ +cos’ 8 =1
1+tan’ @ =sec’ @
1+cot’ @ =csc’ @

sin(—6) = —sin &

cos(—8) = coséd

tan(—@) = —tan @

sin(.4 + B) =smn .4Acos B +sin Bcos 4
sin(A4 —B)=sin.4cosB —sinBcos 4
cos(A+ B)=cosAcosB—sin Asin B
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cos(4—B)=cos Acos B +sin 4sin B

sin 26 = 2sin#cosé
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sin & 1
tané = =

cosé cotd
cotd = C?SH = :

sinfé tand
secHd = :

cosé

1

cscl =—

sin &

7. cos’ 6 :%(1+c0526')

. 2 1
18. sin” & =—(1—cos26)
2

c0s26 =cos’ @—sin@=2cos’@—1=1-2sin’ @



